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SAMPLE QUESTIONS

-

]| Class 3

Important Instructions:

This sample paper comprises of 50 questions for each class while the actual paper
will be of 100 questions

Question paper is divided into 5 sections — English, Science, Mathematics, General
Knowledge & Logical Reasoning

Every question has 1 correct answer

There will be no negative marking

All questions carry equal weightage

Duration of actual exam (with 100 questions) will be 2 hours

In the actual exam, please read the instructions given on the OMR sheet carefully
and submit the completely filled OMR sheet before leaving the exam hall

In the actual exam, additional 10 minutes will be provided for reading the instructions
and filling the OMR sheet

Name of the Candidate (in Capital letters):

Candidate Signature: Invigilator’s Signature :
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Duration : 1 Hr Date :

No. of Questions : 50

Max. Marks: Class : 3

Class 3

Section A- Mathematics

Which of the following shows correct
number name of 9767

(976 B P4 UL ?)

a. Nine seventy six

b. Nine hundred seven six

¢. Nine hundred and seventy six

d. Nine seven six

Romir gives 2 chocolates to each student of
his class on his birthday. If he distributes
120 chocolates in class including him, how
many students are there in his class?

QIR = 30 SAfe W) e & adi Bl 2
didae fQU. R AR 7 G & M oa
120 Himere feu € @ @en § $d b o=

87
a. 62 b. 64
c. 60 d. 12

Which of the following shows correct fraction
of shaded stars?

(Frer o & 19 |7 ofi 77 #7799 dor A
2?)

1 8 & SAGAG A

a. 1/6 h.2/8
c. 2/6 d. 1/2

A pizza was divided into 6 parts. Om ate 2/6 of
pizza. Viyom ate 1/6 of Pizza. How much pizza is
left?

(o i 1 %1 6 FEwdi § aizr AT, 3 A
2/6 =T =@, =AW T 1/6 =T =@, 99
fAeT forsr 2= 22)

a. 1/e b. 2/6

c. 3/6 d. 4/6

Sonu has Rs 100. He wants to buy a car worth
Rs. 150. How much more money does he need
to buy the ball?

(A % 719 | =77 £, 77 150 =79 Fit T
TEEAT FTEAT 2. AT T FI7 @ET F 0 57

e T T e 2 ?)
a. Rs.50 b. Rs. 250
¢. Rs.100 d. Rs.150

Which of the following sets of currency has
least value?

(z77 7 o A2t i 7aH 7 w2 ?)
P A N ""ﬂ ‘g‘,

Cwal O

2 hours befaore 7 in the evening is
(s T 7 G H 2 92 TEA w7 AWT

DI
a. 9pm. b.5 p.m.

c. S5am. d.9a.m.

Which of the following has 3 corners

(AR A TRt EE s ar g ?)
N o
13 * d. D
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10.

11.

12.

13.

Class 3

How many triangles are present in given figure?

(Frer o e BT 2 2)

/

a. 8 b. 10
€. 9 d. 11

How many faces does the given figure has?

(P for e R ¥ P e 2 9)
a. b6 b. 8
c 4 d 3

Akshay had Rs. 500 to purchase items for holi.
He bought colors for Rs. 120 and watergun for
Rs. 200. How much amount is left with him?

(=% % TR ZTeAT a6 T @ et & e 500
=0 2. 394 120 =07 F 7 7 B e
200 =97 FT {T=F14, 77 797 F T T

AT £)

a. Rs. 180 b. Rs. 8O
c. Rs.280 d. Nil
100 tens =

a. 1lakh

b. 100 thousand

¢. 10 thousand

d. 1thousand

Anita leaves school at 7:45 a.m. She reaches
school at 8:25 a.m. How long does Anita take to
reach school?

JLYMPIAD
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14.

15.

16.

17.

18.

(ATAT 7:45 a.m. = F o Fwedr 2 6w
8:25 a.m. FFT TgEAT 8, AT 7 TEAT H

T faT 79T T 2 ?)
a. Half an hour (3147 Hel)
b. 35 minutes (35 fie)
c. 40 minutes (40 fiFe)
d. 50 minutes (50 @)

Identify the number: | am a three digit odd
number, All my digits are different and

| can be divided by 5.
(FR P! UgdE d 7 dH B @1 [qum
(Odd) &R g, B gt 3fd oreT & iR 43 5
¥ ffwfoa fean st waan 8)
a. 250
¢.. 235

b. 225
d. 230

How many multiples of 10 are there from 20 to
207

(20 % 80 AF 10 7 e 7% 2 ?)
a. 7 h.6
c. 8 d.g

Section B- English

Samarpreet has a severe headache,
the doctor gave him this medicine.

but b.so
¢. when d.as
My school is just 2 km away the
railway station.
a. from b. between
c. to d. over

]

Punctuate the following sentence. "mr
jackson where is your hat”
a. Mr Jackson where is your hat.
b. Mr Jackson. where is your hat?
¢. mrJackson Where is your hat?
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19.

20.

21.

22,

23.

24.

25.

Class 3
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d. Mr Jackson, where is your hat?

The masculine gender of goose is
a. Geese b. Gander
c. Goosen d. He goose

Arrange the following words into sentence

Yesterday / for / arrived / a / Rohan /

meeting / Mumbai.

a. Rohan arrived Mumbai yesterday for a
meeting.

b. For a meeting Rohan arrived yesterday
Mumbai.

c. Yesterday Rohan arrived for a meeting
Mumbai.

d. Mumbai for a meeting Rohan arrived
yesterday.

Select the correct word

a. Inclood b. Enclude

c. Include d. Enclood

| am going to make model of
Tajmahal.

a. aa b. a, the

c. the, a d. the, the

Yuvraj was boundaries in T20
world cup cricket match.

a. Smashed b. Smash

¢. Smashing d. Smashes

The trains are late in rainy
season.

a. Seldom b. Often

c. Rarely d. Hardly

Twinkle Twinkle little star, how |
what you are?
a. Wander
c. Vander

b. Wonder
d. One day

26. Tick the correct meaning of merry

a. Wedding b. Game

c. Fairy d. Happy
27. Mark the opposite of begin

a. Commence b. Start

c. Avoid d. Finish

28 - 30 Read the poem below and answer the
following questions

Potter
The potter sits at  his potter's  stool
And the wheel turns round on its stand,
Upon it he throws a Ilump of clay

Which wobbles and bumps in his hand.
Slowly and surely he centres the clay
Till it's steady and ready to form:
Only by finding a centre still
Can a pot of clay be born.

Paul King

28. “Till it's steady and ready to form”. Who is it in
the sentence?

a. Potter b. Clay
c. Wheel d. Can’t say
29. Which word in the poem means ‘move
unsteadily’'?
a. Lump b. Bumps
c. Wobble d. Steady

30. “Upon it he throws a lump of clay” Change the
sentence into past tense,
a. Upon it he thrown a lump of clay
b. Upon it he threws a lump of clay
¢. Upon it he threw a lump of clay
d. Upon it he threw a lumped of clay

Section C- Science

31. Jaya waters her plants everyday but keeps
the pots at different places. Which of the
following potted plant will die early?

a. Kept inside room

Page 3



32.

33.

34.

Class 3
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b. Keptin direct sunlight
c. Keptinside a wooden box

d. Al
(ST B2 e 3T Uelf bt Ui ot € afd
378 ST S{eRT SiTTe UR Xt 8, M H A
I T U1 Sfeal AR SIA?)

a. TR 3o TEI Tl

b. WY YU ¥ 3@ gl

c. UD ASHI & 9o § @1 g3l

d. TaTH Y

Which of the following is an underground
stem?

a. Potato b. Radish

c. Carrot d. Groundnuts
(EHH & i T FHA & 3HeT 397 aralT dar
e?)

a. #AH b. H;"ﬁ'

c. AT d. HITEAT

Study the following flowchart carefully. Where
would you place elephant?

A= fer T v 9 & gF ¥ 2|l iR
qa13U 314 g1l &I FHal i)
Animal
1 L 1
Two legs Four legs
l_'_l I_lﬁ
can fly ca?l;' ot herbivore carnovore

] | |

A B C D
a. A b. B
¢ € d D

Which one of the following is a body-
building food?

a. Green leafy vegetables

b. A bowl full of rice

35.

36.

37.

c. Eggs

d. All of the above

T ¥ PH I IRR FAnfor @St fafegm) &
He[ 8 ?)

. B TR wfes

b. T® HRIdldd

c. %8

d. SW &yl

Brick, cement, woaod, iron etc, are the main
components of construct of which type of
house?

a. Igloo b. Caravan

¢. Bungalow d. House boat
(Ge, dive, abgl, diel 3arie ¥ g UsR &1
R IR g1 Fhdl 8?)

a. i b. ®RdI

c. STl d. Ald W

Find the incorrect match

a. Intestine Digestive system

b. Trachea Circulatory system

c. Lungs Respiratory system
d. Skull Skeletal system

(sm?l Y ad A ge)

a. Y-

b. @ﬁmn W A Ui gt

c. Bhg @ YuITed!

d. @us! DT oI

Which of the following is true about moon?

a. It has its own light

b. Itis not safe to look directly at the
moon with our naked eyes.

¢. It revolves around the Earth

d. Bothaandc

EEH S AHd TR A P A TAE )

a. 39D UTH YA UHIY &

b. =l STl ¥ 4 $H <G 3Rl & ferg
RAERREES

c. U Rl P b TG &

d a3lRc Eff:ﬁ
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38.

39.

40.

Class 3

Shekhar throws her toys in a tub full of water.
Which of the following will keep floating?

a. Softtoy

b. Plastic car

c. Table tennis ball

d. all of the above

(RER A 39 e U Uil 9§ WX °F | B
few @ 1 avar )

. % MR g TSI

ah. WP HR

c. oqdegie

d. gt

Sohan is pushing a box full of toys on flat
surface. On which surface is it easier to
move the box?

a. Dry surface

b. Rough surface

c. Wet surface

d. Hot surface

(18 U THad g W R ¥ 4RT g
YDl Y81 8. BITH Tde W A ST AR

.
3

Which  will
environment?
a. Smoke from chimney

b. Windmills

¢. Burning of fossil fuels

d. Cutting trees

(GHH ¥ fhH®] raraRul W §R1 UHIE gl
RERIE

a. Wﬁlﬂi’rﬁ

b. UaH dfdmdl

c. SIGILH S8 BT Sl

d. Ug Pl

not have bad effect on
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Section D- General Knowledge

41.

42,

43.

44.

The total number of states in India are:

a. 27 b.28
c. 29 d. 26
(AT F F oA 9T 27)

a. 27 b. 28
c. 29 d. 26
GST stands for

a. Goods and Service Tax
b. Good Sales Tax

¢. Give Service Tax

d. Give Sales Tax

(GST T B FiH FAT % )
a. 154 US 9idg ¢
b. T8 I ¢y

c. fhaufdasy

d. 9 d eay

The first person who stepped on moon was
a. Neil Armstrong

b. Edwin Aldrin

c. Apollo

d. Micheal Collins

(ﬁﬁ% R Y& Ugd Ugd dId adfad @1 A
G2l

. Ui Ul
. SO

. HIZHd Ditad

o N o w

The monument shown is found in which
country?

a. Burma
b. Indonesia
c. Egypt

d. Alaska

(feaman a1 ¥R e S A U S 8 7)
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45.

46.

47.

a. §df b. $SIARMET
c. 3foe d. 3T
Chocolate is a produced from

a. Coconut b. Cocoa

¢. Coffee d. Milk
(@pae Fud sar g ?)

a. ARad b. Bl

c. PP d.gy

Section E- Logical Reasoning

Which solid is used to draw the shape given?

%@mwwaﬁwﬁ%%r@n

- »
tel

b.
If 'triangle’ is called 'square', 'square' is
called ‘circle’, 'circle’ is called 'rectangle’
then which of these is used to form a cube?
a. triangle b. rectangle
b. circle d. square
ofe Brys &t @l wg1 o g, 7 &1 aa
af o 4 & & 319 At v 791 & forg v
3 el 82

iz
a,

Class 3
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48.

49.

50.

Priger

c. dd

b, 3T
d. a1

g

If yesterday was Sunday, then day after
tomorrow will be .
a. Monday b. Tuesday

¢. Wednesday d. Saturday

IR F THEFTE 9T, 77 99HT A9 A7 = grm?

a. ATHATT b, HATEETT
¢. TAFAT d. erfeaTe

Which rope is shortest?
(T g e wm A 2 )
VA2 VAVAY AN
2
TN TN NS
3

4 T
|

a.
c. 3

a
E S

Find the relationship
(T AT )

If A= Wthen = (

a. b.
C. d.
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